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Q5 Model Solution – 25 Marks Marking Notes 
(a) 
 
 
 

 

ܣ =
250000(0∙00287)(1∙00287)ଷ଴଴

(1∙00287)ଷ଴଴ − 1
 

 
ܣ = €1244∙06 

 
Or 

 
ܣ

1∙00287ଵ
+

ܣ
1∙00287ଶ

+ ⋯
ܣ

1∙00287ଷ଴଴
 

= 250000 
 

ܣ

ۏ
ێ
ێ
ێ
ۍ 1
1∙00287ቆ

1
1∙00287

ଷ଴଴
− 1ቇ

1
1∙00287 − 1

ے
ۑ
ۑ
ۑ
ې
= 250000 

 
200∙9544372 × ܣ = 250000 

ܣ = €1244∙06 
 

 
Scale 15C (0, 5, 10, 15) 
Low Partial Credit:  
Formula with some correct substitution 
(1∙00287) 

 300 
 
High Partial Credit: 
Formula fully substituted 

(b) 
 
 
 
 

 
1771
1∙003

+
1771
1∙003ଶ

+⋯+
1771

1∙003ଵ଺଻

+
1771

1∙003ଵ଺଼
 

 

ଵܵ଺଼ =

1771
1∙003 ൤ቀ

1
1∙003ቁ

ଵ଺଼
− 1൨

1
1∙003 − 1

 

 
= €233438∙25 

 

 
Scale 10D (0, 3, 5, 8, 10) 
Low Partial Credit:  

1771
1∙003

 

 168 
 
Mid Partial Credit: 
ଵܵ଺଼ formula with some substitution 

 
High Partial Credit: 
Formula fully substituted 
 

  


